N\ N

N

QUTEFCI4 MOTORTEIS

For the full installation video,

please scan this OR code with

vour smart phone M6 Nylock Nut

M6 Washer

M6 x 20mm - TONM




'L‘

T ()N

CQUTEIFCIS TNOTORTEIS

— M8x35mm -[*]

M8 Washer

y \
M6 Washer __|

M6 X 16mm - TONM

[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS



N\

i

CQUTEIFCIS MNOTORTEIA

M8 Washer

M8 x 16mm - TONM

M6 X 16mm - 1T0NM




